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HRKERIF 3E GrFmE: 30m, AkL—F:22~30m)

. | 4#4rER B ;ﬁﬁgﬁé Ho54.15 | H2s.4.24 H25.5.1 H25.5.17 H26.6.6 H26.6.17 H25.7.4 H26.7.18 H26.8.2 H25.9.6 H26.103 | H25.11.7
1 AESHLA mg/L 0.003 - 0.0003 &3 | 0.0003 % [ 00003 k3 - 0.0003 3 - 0.0003 3 | 0.0008 K3 - 0.0003 ¥ i
2 BYTY mg/l.  |REEhEenCE - S THH ER = T - THRH T = BB =
3 8 mg/L 0.01 - 0.006 k% | 0.00563k% | 0005 F£H = 0.005 ¥ - 0.005 3% | 0.005 £ = 0.005 £ =
4 Al L mg/L 0.05 - 002 %% | 002 %% | 002 k& . 0.02 ¥ = 002 Fi# | 002 K& - 002 *# -
5 it me/L 0.01 ~ 0006 k3% | 0005 %% | 0005 k% - 0.005 k# = 0.005 3 | 0.005 i - 0.005 7 -
6 $@7ken me/L 10,0005 = 0.00055%3% | 0.000555% | 0.0005:%% - 0.0005:k3% - 00005334 | 000055k - 0.000558 % -
7 F LA JLIKER mg/L  |#HEhEnCE - Tz T ER = TR = THH THH - THERH =
8 PCB mg/L | #gHEhnnce - FiaH TR ©TEH - FiaH - FaH FiaH = T =
9 SHranAL Y mg/L 0.02 . 0002 3% | 0002 %4 | 0002 &% . 0,002 - 0002 5k# | 0.002 K% - 0.002 7% -
10| mEkps mg/L 0.002 - 000023 | 0000257 | 0.0002:5k7% - 0.000255 3% - 0.0002:535% | 0.00025%% = 0.00025%3% -
1 1,2-v'panzsy mg/L. 0.004 - 0000453 | 00004553 | 0.00043k% - 0.0004:k% - 00004383 | 0.00045% - 0.0004:5% - |
12 Blke=LE ) v — mg/L 0.002 - : 0.0002:% | 0.00023K7 0.0002:%3 - 0.00025k# - 0.0002# | 0.0002:kH = 0.0002:k# =
% N mg/L 0.1 . 0002 %% | 0002 %% | 0002 %% - 0.002 - GR0ZERA 0.002 7 - 0.002 &7 -
2 | o | IR PR L 0.04 . 0004 %% | 00043 | 0004 %% - 0.004 - 0004 K | 0.004 K - 0.008 A [—
5 bovA-1,2-¥'90nTFLY mg/L
i 15 1,1,1-Hpmnzsy me/L. i = 0000553 | 00005 | 0.00055%4 - 0.00053% % . 0.00055k3# | 0.0005:H - 0.00065 -
Igﬁ 16 i,1,2-N5nnzay me/L 0.008 2 0.00065%% | 0.0006%% | 000065k - 0.0006:%%# - 0.000633% | 0.00065%3% - 0.00063k % =
17| rusRRTFLY me /L 003 . 0002 %% | 0002 3% | 0002 k% - 0002 7 - 0002 7 | 0.002 %% - e e -
8 FhIH/RRIFLY me/L 0.01 - 000057 | 0000555 | 0.0005:k% - 0.0006:k3% - 0000553 | 0.0005:%5 - 0.00055% % -
19 1,3-54007 ANy mg/L 0.002 . 0.000253% | 0.0002:%% | 0.00025k3% - 0.0002:% - 0.0002:53% | 0.00025%% - 0.0002:%% -
20| FusA mg/L 0,008 . 0.00063k%% | 0000653 | 0.00063k% - 000067 - 0000654 | 0.00065% - 0.00062%% -
21 YTUY mg/l | 0003 - 000033 | 00003:%% | 0.00035% - 0.00035% 5 0.0003:k% | 0.0003F7 . 0.0003%7% -
2| FAAvHILT me/L 002 - 0002 % | 0002%% | 0.002 K - kS 0002 K7 | 0002 & - e -
23| Ruey me/L 001 - 0001 3% | 0001 % | 0001 s = 0.001 33 - 0.001 ¥ | 0001 5 - 0.001 K -
2| Ly me/L 0.01 5 0002 %% | 0002 %% | 0002 k% - 0002 K = 0.002 k7 | 0002 K& : 0,002 B
25 HEBEERRUENREESR mg/L 10 - 1.6 1.3 1.2 - 1.1 - 1.2 . 1.2 = 0.82 =
26|  aom me/L 08 i, 005 % | 005 xm | 005 - 005 k¥ ~ 0.05 K | 006 KA : 005 -
27 E3% mg/L i - 0.06 0.04 ki 0.07 - 0.05 - 0.04 K 0.06 - 0.0 B
28| 14-vtE4y mg/L 005 - 0005 %% | 00054 | 0005 5 - 0.005 K - 0.005 3 | 0005 K - 0.005 4 N
29 | kA C e 16.6 13.8 163 14.8 149 16.3 16.2 16.2 16.6 16.0 166 166
@ | 80| KA AR - - 79 75 7.3 73 75 75 | e | 14 | 74 75 74 7.
Ig 31 BamyE me/m | - 44 47 61 44 39 38 43 w4 | 34 38 27
32 | sEftaq A mg/L = = 87 85 78 5 58 . 76 7 - 59 -
33 HAAFYVE pE-TEQ/L 1 = 0.047 0.042 0.046 - 0.049 - 0.047 0.049 = 0.048 -
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